

في النهاية

في النهاية

في النهاية

$$\lim_{x \rightarrow r} \frac{x^r - r^r}{x^r + r^r + b} = -\infty \rightarrow \frac{-1}{r^r + r^r + b} = -\infty \rightarrow r^r + b + r^r \rightarrow r^r + b + r^r$$

-1

$$x^r + r^r + b = (x + \frac{r}{r})^r = (x-r)^r = x^r - r^r + r^r \rightarrow a = -r^r, b = r^r \rightarrow a + b = (-r^r) + r^r = 0$$

$$\lim_{x \rightarrow r} \frac{x^r}{x^r + r^r + b} = +\infty \rightarrow \frac{\sqrt[r]{r}}{\sqrt[r]{r} + \sqrt[r]{r} + b} = +\infty \rightarrow \sqrt[r]{r} + b + \sqrt[r]{r} \rightarrow \sqrt[r]{r} + b + \sqrt[r]{r}$$

-2

$$x^r + r^r + b = (x + \frac{r}{r})^r = (x - \sqrt[r]{r})^r = x^r - r^r + r^r \rightarrow a = -r^r, b = r^r \left[\frac{b}{a} \right] = -1$$

$$\lim_{x \rightarrow \frac{1}{r}} \frac{r^r - x^r}{\frac{1}{r} + x + r} = \frac{a-1}{\frac{1}{r} + a + r} = -\infty \rightarrow \left| a + \frac{1}{r} \right| + r = 0 \rightarrow a = -\frac{1}{r} \rightarrow \left| a + \frac{1}{r} \right| + r = 0 \rightarrow -\frac{1}{r} + \frac{1}{r} + r = r \neq 0$$

-3

$$a = -\frac{1}{r} \rightarrow \left[-\frac{1}{r} \right] = -1$$

$$\lim_{x \rightarrow \left(\frac{1}{r}\right)^+} \frac{r^r - \left(\frac{1}{r}\right)^r}{r^r + \left(\frac{1}{r}\right)^r} = \lim_{x \rightarrow \left(\frac{1}{r}\right)^+} \frac{r^r - \frac{1}{r^r}}{r^r + \frac{1}{r^r}} = \frac{1}{0} = +\infty$$

-4

$$\lim_{x \rightarrow r^+} \frac{x^r - r^r}{x^r - [x^r]} = \frac{x^r - r^r}{x^r - 1} = \frac{(x-r)(x+r)}{(x-r)(x^r + r^r)} = \frac{x+r}{x^r + r^r} = \frac{r}{1r} = \frac{1}{r}$$

-5

$$\lim_{x \rightarrow -1} \frac{x^r + \log x}{1 + \sqrt{x}} = \frac{(x+1)(x+r)}{r(\sqrt{x})} = \frac{(\sqrt{x}+r)(\sqrt{x}-r)(x+r)}{r(\sqrt{x})} = \frac{(\sqrt{x}+r)(x+r)}{r} = \frac{1r(-r)}{r} = -1r$$

-6

$$\lim_{x \rightarrow 0^+} \frac{\sqrt{x} \cos x - \sqrt{1-x}}{\sqrt{1-\cos x}} \rightarrow x \frac{\sqrt{x} \cos x + \sqrt{1-x}}{\sqrt{x} \cos x + \sqrt{1-x}} = \frac{x \cos x - r + x}{\sqrt{x} \cos x + \sqrt{1-x}} = \frac{x \cos x}{|x| \cdot r} = -r$$

-7

$$\lim_{x \rightarrow 0} \frac{k \cos(\sqrt{a} x)}{k x^r} = \frac{k \cos 0}{0} = \frac{k \cdot 1}{0} = \frac{k}{0} = \infty \rightarrow k = 1 \rightarrow \lim_{x \rightarrow 0} \frac{\cos(\sqrt{a} x) - 1}{-x^r}$$

-8

$$\text{h.o.p: } \lim_{x \rightarrow 0} \frac{-\sqrt{a} \sin(\sqrt{a} x)}{-rx} = \frac{-a \cos(\sqrt{a} x)}{-r} = \frac{-a}{-r} = \frac{a}{r} \rightarrow a = r$$

$$\frac{a}{r} = \frac{r}{-1} = -r$$

